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A Mol 2n=18
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=78 A5A &
78 AFA
I
1. =3 HAHHZH
wh9):2190)
S B 149 = 23 d = 3 4d & 43 d = 53 49 =
A} Ak
1. & & & & 2,977,000 3,698,350 4,083,070 4,660,150 5,141,050
)2 & A A 2,964,000 3,682,200 4,065,240 4,639,800 5,118,600
d3 92 dF5HE 390,000 484,500 534,900 610,500 673,500
u 2 A @ 2,600,000 3,230,000 3,566,000 4,070,000 4,490,000
(&S F3) (26,000) (32,300) (35,660) (40,700) (44,900)
2)A A A 39,000 48,450 53,490 61,050 67,350
A F 39,000 48,450 53,490 61,050 67,350
4 A B T 1,050,000 960,750 1,045,800 1,181,250 1,291,500
2. a2 A A A 859,639 1,262,803 1,402,427 2,039,831 2,551,610
1) % & = 4 2,000 404,763 576,455 1,293,991 1,970,434
TN E &G F 0 402,763 574,455 1,291,991 1,968,434
A8 2,000 2,000 2,000 2,000 2,000
2)F @ A Ak 854,639 855,039 822,972 742,841 578,176
B ] 306,000 306,000 306,000 306,000 306,000
Eal =y 196,174 196,174 196,174 196,174 196,174
(b2 2 A <) (19,617) (39,235) (78,470) (156,939) (313,878)
71 Al 2w 419,100 419,100 419,100 419,100 419,100
(744 FA9) (131,178) (90,120) (61,912) (42,534) (29,220)
A e 5 ) A E 105,200 105,200 105,200 105,200 105,200
(F7h 424+ A9) (21,040) (42,080) (63,120) (84,160) (105,200)
3) % @ A Ak 3,000 3,000 3,000 3,000 3,000
Fdu F 3,000 3,000 3,000 3,000 3,000
2} 2k A 3,836,639 4,961,153 5,485,497 6,699,981 7,692,660
7 A
1. % & % A 2,094,157 2,731,400 2,826,479 3,444,777 4,056,860
Dol g A 1,820,000 2,261,000 2,496,200 2,849,000 3,143,000
2) 7] E} 274,157 470,400 330,279 595,777 913,860
2. a2 B B A 1,039,383 1,048,937 1,053,715 852,048 649,188
&7 A = 1,020,274 1,020,274 1,020,274 816,219 612,164
2) 7] 25 19,109 28,663 33,441 35,829 37,023
5 A A 3,133,540 3,780,337 3,880,194 4,296,825 4,706,047
A} L3
1. A/ 2 & 400,000 500,000 500,000 800,000 800,000
2. 09 Qo F 303,099 680,816 1,105,303 1,603,156 2,186,612
ZF 71 ol & o] o o & 0 303,099 680,816 1,105,303 1,603,156
(F 7 %] ) 303,099 377,717 424,488 497,853 583,456
A} 3 A 703,099 1,180,816 1,605,303 2,403,156 2,986,612
B 2ARZEA 3,836,639 4,961,153 5,485,497 6,699,981 7,692,660
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2. £H SOH AN
(1 9)
T i == 22 = A= 2P 5P =

1. wjZo 7,800,000 9,690,000 10,698,000 12,210,000 13,470,000
2. WEY} 6,886,172 8,611,113 9,505,396 10,887,224 11,947,109
3. mEZole] 913,828 1,078,887 1,192,604 1,322,776 1,522,891
4. v e} ejn] 421,258 478,175 523,161 552,573 637,286
D17An] 103,133 144,907 176,176 193,794 258,853
2)Ee] A3 7,219 10,143 12,332 13,566 18,120
3)77871] 45,000 46,350 47,741 49,173 50,648
4) 3= 0 0 0 0 0
5)77 1] 19,623 19,623 19,623 19,623 19,623
6) A= 7,500 7,725 7,957 8,195 8,441
7)1 An) 33,000 33,990 35,010 36,060 37,142
8) =2t 52,500 54,075 55,697 57,368 59,089
8)F =g ] 15,000 15,450 15,914 16,391 16,883
9)HF T 9,282 13,042 15,856 17,441 23,297
10) 53 ] 40,500 41,715 42,966 44,255 45,583
11)-&5H] 51,000 52,530 54,106 55,729 57,401
12)7] €} 37,500 38,625 39,784 40,977 42,207
5.%9%0]¢] 492,570 600,712 669,442 770,203 885,605
6. 39252 0 5,326 28,723 64,600 98,422
7.9499M)E 60,196 60,196 60,196 54,177 45,147
8.7%0]o] 432,374 540,516 609,246 716,027 840,457
9.51Ho]9] 20,000 22,000 24,200 26,620 29,282
10. QAR =o€ 412,374 518,516 585,046 689,407 811,175
11. A% 109,275 140,799 160,559 191,554 227,719
12. 9371509 303,099 377,717 424,488 497,853 583,456
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3. &8 HMZEZAIIBMAM

T a 1Ad = 221 = I = 42Ad = 5aE &
L.A 8 A 6,300,000 7,686,000 8,366,400 9,450,000 10,332,000
2. % A 183,500 476,960 672,760 939,154 1,092,804
3.A = 74w 441,672 457,603 471,276 505,630 528,605
DA 30,000 33,000 36,300 39,930 43,923
2) 37 2| 152,812 111,754 83,546 64,168 50,854
3) A 7,500 7,875 8,269 8,682 9,116
4) 52T A 12,845 33,387 47,093 65,741 76,496
5)R¥E R 16,515 42,926 60,548 84,524 98,352
6) 2 B3 45,000 46,350 47,741 49,173 50,648
7)< HHH] 31,500 32,445 33,418 34,421 35,454
)T EFEH 60,000 61,800 63,654 65,564 67,531
9) AF A 1] 48,000 49,440 50,923 52,451 54,024
10) <Ixt= 0 0 0 0 0
171 = 37,500 38,625 39,784 40,977 42,207
4. 37 FA =0 & 6,925,172 8,620,563 9,510,436 10,894,784 11,953,409
5. 71 A 3F A AL 0 39,000 48,450 53,490 61,050
6. 7] Al T F A 3L 39,000 48,450 53,490 61,050 67,350
7. 37N FA L7 6,886,172 8,611,113 9,505,396 10,887,224 11,947,109
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4. el 2£E

MIA

1) A=H BAAN

T = 1IAd = 22 = A= A = 5RPAE

i & oA 7,800,000 9,690,000 10,698,000 12,210,000 13,470,000
4 A = 6,300,000 7,686,000 8,366,400 9,450,000 10,332,000
3 Al 6,300,000 7,686,000 8,366,400 9,450,000 10,332,000
HIAPAE AmilE WEe F U5/5Ee G gom, 2R EE 28 5%
Jge] e Q¥ FEEES AN A F9 A2 AARD AAHAS

2) A7V &2 HAA

T % H5A7 Weds IAEE | 229 E | 3REE | 4xdE | 53EE |H] 3
3 A4

E A 306,000 - - - - - _
TE5E(FL) 196,174 10 19,617 19,617 19,617 19,617 | 19,617 | AN
71 A7 A 419,100 8 131,178 90,120 61,912 42,534 | 29,220 | A&
Ak 99,000 5 19,800 19,800 19,800 19,800 | 19,800 | A<
A7 6,200 5 ,240 1,240 1,240 1,240 1,240 | A
3 A4

v F 3,000 5 600 600 600 600 600 | AN
g Al 1,026,474 172,435 | 131,377 | 103,169 83,791 | 70,477

Az A7} 152,812 111,754 83,546 64,168 | 50,854

ol #H] | 19,623 19,623 19,623 19,623 | 19,623
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3) YzH FAIA

Qo1g |zt

—

=0

(9]l
2 2 S dAF A A
5 = s HAH9 k] Al
0 & o] A} 2,300 27,600 4,600 2,683 34,883
” G 2 1,900 22,800 3,800 2,217 28,817
- 7] AL 1,000 12,000 2,000 1,167 15,167
© A 3 g 800 9,600 1,600 933 12,133
2] Al 3 g 800 9,600 1,600 933 12,133
A A 81,600 13,600 7,933 103,133
3z = 1,600 19,200 3,200 1,867 24,267
A AHTA 850 10,200 1,700 992 12,892
A &34 850 10,200 1,700 992 12,892
; 9 & 3 2,550 174 53] /d 3vk /o 2,550
B 2 A 39,600 6,600 3,850 52,600
CAHHAH Y OIHH] HMIAD
(914
P 1A= 22 % A= AP = 5=
dY F 9 (99 F 9 |ag F 9 |agd F 9 [d9 2 9
EOJAH[ 1 34,883 1 34,883 1 34,883 1 34,883 | 1 34,883
B 28,817 | 1 28,817 | 1 28,817 | 1 28,817 | 1 28,817
& 71 AH 1 15,167 1 15,167 1 15,167 1 15,167 | 2 30,333
g | gane| 1 12,133 1 12,133 2 24,267 | 2 24,267 | 2 24,267
A [ARRE | 1 12,133 2 24,267 | 2 24,267 | 2 24,267 | 3 36,400
2 A 5. 103,133 6 115,267 | 7 127,400 | 7 127,400 | 9 154,700
=2 A 1 24,267 | 1 24,267 | 1 24,267 | 1 24,267 | 1 24,267
A AFITA| 2 25,783 | 2 25,783 | 2 25,7831 3 38,675 3 38,675
A | TEEA| 6 77,350 | 7 90,242 | 7 90,242 | 8 103,133 | 8 103,133
B Jd & A 22 56,100 | 23 58,650 | 24 61,200 | 25 63,750 | 26 66,300
& A A | 31 183,500 | 33 198,942 | 34| 201,492| 37 229,825 | 38 232,375
g A 36 286,633 | 39 314,208 | 41 328,802 | 44 357,225 | 47 387,075
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